1. a) Strain distribution for elastic-perfectly plastic rectangular beam with a high
enough bending moment that some yielding has occurred in the beam.
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1. b) Repeat a) with an elastic-plastic stress-strain relation with linear hardening
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3. Dowling 4.16

Engineering stress and strain are based on initial values (A; and L;) whereas true
stress and strain are based on the current values (A and L). Current values of A and L
change throughout the test. For example, in tensile testing A decreases and L
increases, which means that true stress rises above engineering stress and true strain
drops below engineering strain.



